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Note : Answer questions from both Sections as 

per instructions.   

 Section—A 

Note : Answer any two questions from this 

Section in about 600 words each. 2×20=40 

1. What is meant by business cycle ? What are 

its important features ? Discuss Samuelson's 

model of business cycle.   

2. Give a brief account of the rational 

expectation hypothesis. In the above 

context, describe the Lucas’ Supply 

Function.    
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3. Highlight the major features of the 

decentralized household problem in the 

Ramsey-Cass-Koopmans model.   

4. Derive the IS and LM curves. Explain how 

the economy reaches equilibrium in the IS-

LM model.  

Section—B 

Note : Answer any five questions from this 

Section in about 300 words each. 5×12=60 

5. Describe how the search theory helps in 

explanation of unemployment in the 

economy. 

6. Discuss the effect of temporary adverse 

supply shocks in the context of real business 

cycle model. 

7. Explain why there could be real rigidities in 

the credit market. 

8. Explain the concept of dynamic 

inconsistency in government policies. 

9. Give a brief account of non-discretionary 

fiscal policy in an economy.  
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10. By using appropriate diagrams, explain the 

implications of expectations-augmented 

Phillips curve.     

11. Explain the concept of money multiplier and 

its implications.  

12. Write short notes on the following : 

(a) Transmission mechanism of monetary 

policy  

(b) Impact of expansionary fiscal policy 
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 MEC–102 

,e- ,- (vFkZ'kkL=)  

(,e- bZ- lh-) 

l=kar ijh{kk  

twu] 2025 

,e-bZ-lh-&102 % lef"V vkfFkZd fo'ys"k.k 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % nksuksa Hkkxksa ls funsZ'kkuqlkj iz'uksa ds mÙkj fyf[k,A 

Hkkxµd 

uksV % bl Hkkx ls fdUg° nks iz'uksa ds mÙkj (izR;sd) yxHkx  

600 'kCnksa esa fyf[k,A  2×20=40 

1- ,d O;kikj pØ dk D;k vFkZ gksrk gS \ blds egRoiw.kZ 

vfHky{k.k D;k gksrs gSa \ lSE;qvYlu ds O;kikj pØ 

izfreku ij ppkZ dhft,A 
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2- rdZ'khy izR;k'kk ladYiuk dk laf{kIr o.kZu dhft,A bl 

lanHkZ esa yqdkl ds vkiwfrZ Qyu dk o.kZu dhft,A 

3- jkels&dkl&dwieSu izfreku esa fodsUnzhÏr ifjokj leL;k 

ds eq[; vfHky{k.kksa dk Li"V :i ls fu:i.k dhft,A  

4- IS rFkk LM oØksa dh O;qRifÙk n'kkZb,A O;k[;k dhft, 

fd IS&LM izfreku esa vFkZO;oLFkk fdl izdkj larqyu 

izkIr djrh gSA 

Hkkxµ[k 

uksV % bl Hkkx ls fdUg° ik¡p iz'uksa ds mÙkj (izR;sd) yxHkx 

300 'kCnksa esa fyf[k,A  5×12=60 

5- o.kZu dhft, fd vFkZO;oLFkk esa csjkstxkjh dh O;k[;k esa 

ryk'k fl¼kar fdl izdkj lgk;d gksrk gSA 
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6- okLrfod O;kikj pØ izfreku ds lanHkZ esa vLFkkbZ foijhr 

vkiw£r la{kksHkksa ds izHkko ij ppkZ dhft,A 

7- le>kb, fd lk[k cktkj esa okLrfod vuE;rk,¡ D;ksa iSnk 

gks ldrh gSaA 

8- ljdkjh uhfr;ksa esa xR;kRed folaxfr dh ladYiuk dh 

O;k[;k dhft,A 

9- ,d vFkZO;oLFkk esa xSj&foosdk/khu jktdks"kh; uhfr dk 

la{ksi esa o.kZu dhft,A 

10- mi;qDr js[kkfp=ksa dk iz;ksx dj izR;k'kk&laof/kZr fQfyIl 

oØ dh O;k[;k dhft,A 

11- ekSfnzd xq.kd dh ladYiuk vkSj mlds fufgrkFkZ  

le>kb,A 
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12- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(v) ekSfnzd uhfr dh izlj.k izfØ;k 

(c) izlkjoknh jktdks"kh; uhfr ds izHkko 

× × × × × 

 

 

 

 

 

 

 

 

 


